CET 497

Capstone |

Project Relevance

Student Name:

Question Result Comments
1) First clause describes task at hand Yes No
2) Second clause describes immediate result Yes No
of performing task from first clause

3) Third clause describes the broader effect Yes No
on society/environment/business of per-

forming the task

4) Statement forms a coherent idea where Yes No
the solution proposed in the first clause ad-

dresses the larger issues that follow

5) Statement is grammatically acceptable Yes No

Additional Comments:
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